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Alpha Numeric Symbol Series Questions for IBPS Clerk Mains, SBI 
Clerk Mains, IBPS PO Pre and SBI PO Pre Exams. 

Alpha Numeric Symbol Series Set 36 
 

Directions: The following questions are based upon the 4-letter word each followed by a 3-
digit number. 
 
CLIP467,   SING262,   TANK738,   GOAL369,   PEAR573 
 

1. If first letter of the words attached to even numbers is replaced by letter ‘P’ and the 
first letter of the words attached to odd numbers is replaced by ‘F’ then how many 
meaningful English words can be formed so? 

A. 2   B. 3   C. 4   D. 5   E. None of these 

 
2. What is the difference between the total numbers that are attached to a word having 

only one vowel and the total numbers that are attached to the words having more 
than one vowel?   

A. 428   B. 358   C. 168   D. 542   E. None of these 

 
3. If in all the words vowel ‘I’ is replaced by vowel ‘O’, vowel “O” is replaced by “U” and 

so on then find how many meaningful English words can be formed so? 

A. None  B. 2   C. 3   D. 4   E. 1 

 

4. If 1st letter of second element, 2nd letter of fourth element, 3rd letter of fifth element 
and 4th letter of first element is taken then how many meaningful words can be 
formed using the above mentioned letters? 

A. 0   B. 1   C. 2   D. 3   E. None of these 

 
5. What would be the sum of the differences of the smallest and the largest digits of 

each element?   

A. 19   B. 33   C. 22   D. 20   E. 24 
 

Correct Answers: 

1 2 3 4 5 

C E C B C 
 



 

 

Explanations : 

 
1. Given Series : CLIP467, SING262 ,  TANK738,  GOAL369,  PEAR573 

  

New Series : FLIP467,  PING262, PANK738, FOAL369, FEAR573 
 

Except PANK, all other 4 words are meaningful English words. 
 

FLIP means to turn. 
 

PING means a short pitched sound. 
 

FOAL means young-one of horse. 
 

FEAR means afraid. 
 

Hence option C is correct. 
 
 

2.   Given Series : CLIP467, SING262 ,  TANK738,  GOAL369,  PEAR573 
  

The sum of the numbers attached with the words having more than one vowel = 573 + 369 = 942 
  

The sum of the numbers attached with the words having one vowel = 467 + 262 + 738 = 1467 
  

Required difference: 1467 – 942 = 525 
  

Hence option E is correct. 
 
 

3. Given Series : CLIP467, SING262 ,  TANK738,  GOAL369,  PEAR573 
  

New Series : CLOP467, SONG262, TENK738, GUEL369, PIER573 
  

3 meaningful English words can be formed so: 
  

Clop means sound produced by horse’s feet. 
 

Song means a music composition accompanied with lyrics. 
 

Pier means a pillar supporting vertical stands. 
  

Hence option C is correct. 
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4.   The 1st letter of second element, 2nd letter of fourth element, 3rd letter of fifth element and 4th letter 
of first element are S, O, A, and P. 
 
Thus, only 1 meaningful English word can be formed i.e. SOAP. 

 
Hence, option B is the correct answer. 

 
 

5. CLIP467, SING262, TANK738, GOAL369, PEAR573 
 
The difference of the smallest and largest number of each element is 3, 4, 5 6, and 4. 
 
The sum of all the digits = 22 
 
Hence, option C is the correct answer. 
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